
Part  III — Vocational Subjects

Ai¨£øh ªß ö£õÔ°¯À & P¸zv¯À

BASIC ELECTRICAL ENGINEERING - THEORY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Version )

Põ» AÍÄ : 3.00 ©o ÷|µ® ] [ ö©õzu ©v¨ö£sPÒ : 90

Time Allowed : 3.00 Hours ] [ Maximum Marks : 90

AÔÄøµPÒ : (1) AøÚzx ÂÚõUPÐ® \›¯õP £vÁõQ EÒÍuõ Gß£uøÚ \›£õºzxU
öPõÒÍÄ®. Aa_¨£v¨¤À SøÓ°¸¨¤ß AøÓU PsPõo¨£õÍ›h®
EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®. £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

£Sv & I / PART - I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 15x1=15

(ii) öPõkUP¨£mkÒÍ |õßS ©õØÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯

Âøhø¯z ÷uº¢öukzxU SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊuÄ®.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1. __________ Gß£x ö£õ¸mPÎß öÁ¨£¨ £s¦PÎÀ JßÖ.

(A) öÁ¨£U Phzx vÓß (B) ö|õ¢u PøÍ¨¦

(C) ußø©°ÇzuÀ (D) PiÚzußø©

Which of the following are the thermal properties of materials ?

(a) Thermal conductivity (b) Fatigue

(c) Creep (d) Hardness

2. ÷µõ÷£õUPøÍ C¯USÁuØS £¯ß£k® ÷©õmhõº Gx ?

(A) ¤›¢u {ø» ÷©õmhõº (B) ²ÛÁº\À ÷©õmhõº

(C) {ÇÀ x¸Á ÷©õmhõº (D) £i{ø» ÷©õmhõº
Which motor is used to drive robots ?
(a) Split phase motor (b) Universal motor

(c) Shaded pole motor (d) Stepper motor

3. PLC Gß£uß Â›ÁõUP® :

(A) Programming Logic Controller (B) Progressive Logic Controller

(C) Prevented Logic Controller (D) Protected Logic Controller

The expansion of PLC is __________.
(a) Programming Logic Controller (b) Progressive  Logic Controller

(c) Prevented Logic Controller (d) Protected Logic Controller

4. uk¨¦ {Özu ÁøP ªßPõ¨£õß uøµ°À C¸¢x __________ E¯µzvÀ Aø©UP¨£h
÷Ásk®.

(A) 5 « (B) 2 « (C) 4 « (D) 3 «

Stay insulators are provided to a height of _________ above the ground level.

(a) 5 m (b) 2 m (c) 4 m (d) 3 m

5. ªßÚP® Gß£x __________ BÀ BÚx.

(A) Põ¨¤h¨£mh A¾ªÛ¯®

(B) A¾ªÛ¯®

(C) Põ¨¤h¨£mh GLS

(D) GLS

The armature is made up of __________.

(a) Laminated Aluminium
(b) Aluminium

(c) Laminated Steel

(d) Steel
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6. J¸ {ø»UPõÚ _¸Ò öuõSvPÎß GsoUøP¯õÚx x¸Á[PÎß
GsoUøPUS \©©õP C¸¨¤ß Ax __________ GÚ¨£k®.

(A) •Êa _¸Ò EÀø» (B) Aøµa _¸Ò EÀø»

(C) \©{ø» EÀø» (D) Cµmøh AkUS EÀø»

If the number of coil groups per phase is equal to the number of poles, then the winding is

called as __________.

(a) Whole coil winding (b) Half coil winding

(c) Balanced winding (d) Double layer winding

7. |õßS •øÚ xÁUQ°À, NVR Põ°ø» ¦»a _¸Ðhß G¢u Cøn¨¤À CønUP
÷Ásk® ?

(A) ÷|µi¯õP (B) öuõhº

(C) öuõhº ©ØÖ® Cøn¯õP (D) Cøn¯õP

In Four point starter, how the No Volt Release coil should be connected with the field coil ?

(a) directly (b) in series

(c) in series and parallel (d) in parallel

8. J¸ Svøµz vÓß Gß£x :

(A) 746 Áõmì (B) 736 Áõmì (C) 766 Áõmì (D) 756 Áõmì

One Horse Power is equal to :

(a) 746 Watts (b) 736 Watts (c) 766 Watts (d) 756 Watts

9. C¢v¯õÂÀ ªß\õµ Aø» ÷ÁP©õÚx __________ BS®.

(A) 50 öíºmì (B) 60 öíºmì (C) 45 öíºmì (D) 70 öíºmì

In India, the current frequency adopted is __________.

(a) 50 Hz (b) 60 Hz (c) 45 Hz (d) 70 Hz

10. ªß\õµ Â{÷¯õPzvØS __________ •UQ¯©õÚ £Sv BS®.

(A) Pmk¨£õmk _Âma (B) ªß_ØÖ Pmk¨£õmk £»øP

(C) vÓß ªß_ØÖ (D) _Âma

For electrical power distribution system, __________ is an important part.

(a) Control switch (b) Panel board

(c) Power circuit (d) Switch
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11. x¸Á Cøhzyµ® Gß£x __________.

(A) J¸ x¸ÁzvÀ EÒÍ, J¸ {ø»UPõÚ £ÒÍ[PÎß GsoUøP

(B) J¸ x¸ÁzvØPõÚ £ÒÍ[PÎß GsoUøP

(C) £ÒÍ[PÎß £õv GsoUøP

(D) J¸ {ø»UPõÚ £ÒÍ[PÎß GsoUøP

Pole pitch is referred to as __________.

(a) the number of slots per pole per phase

(b) the number of slots per pole

(c) half of the number of slots

(d) the number of slots per phase

12. A¾ªÛ¯zvß E¸S {ø» AÍÄ __________.

(A) 7288C (B) 10858C (C) 2308C (D) 6608C

The melting point of Aluminium is :

(a) 7288C (b) 10858C (c) 2308C (d) 6608C

13. ¦À»m µ°ÀPÒ ©oUS __________ ÷ÁPzvÀ C¯[S®.

(A) 400 Q.«. (B) 800 Q.«. (C) 300 Q.«. (D) 600 Q.«.

Bullet trains run at a speed of __________ per hour.

(a) 400 km (b) 800 km (c) 300 km (d) 600 km

14. SÇõ´ {» Cøn¨¤À E£÷¯õP©õS® x¸¨¤iUPõu C¸®¦U SÇõ°ß Âmh®
__________.

(A) 38 ª.«. (B) 30 ª.«. (C) 42 ª.«. (D) 34 ª.«.

In pipe earthing, the Galvanized iron pipe is having the diameter of __________.

(a) 38 mm (b) 30 mm (c) 42 mm (d) 34 mm

15. DC C¯UPzvß ÷ÁP® __________ I¨ ö£õÖzux.

(A) AvºöÁs (B) ªß÷Úõmh®

(C) ªßvÓß (D) ªßÚÊzu®

The speed of the DC drive depends on __________.

(a) Frequency (b) Current

(c) Power (d) Voltage
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£S-v & II / PART - II

SÔ¨¦ : GøÁ-÷¯-Ý® £zx ÂÚõU-P-ÐUS Âøh-¯-ÎU-P-Ä®. ÂÚõ Gs 28 &US
Pm-hõ-¯-©õP Âøh-¯-ÎU-P-Ä®.

Note : Answer any ten questions. Question number 28 is compulsory.

16. L¤Íª[Qß ChUøP Âvø¯U TÖP.
State Fleming’s left hand rule.

17. xÁUQPÒ CÀ»õ©À ÷|ºvø\ ªß÷Úõiø¯ C¯UQÚõÀ, Bº©a`º
ªß÷ÚõmhzvÚõÀ HØ£k® ÂøÍÄPøÍz u¸P.

State the effects caused by the flow of heavy armature current in DC motor without starters.

18. ö£õÔ°¯À ö£õ¸mPøÍ SÔ¨¤mh ÷uøÁUS ÷uº¢öukUS®÷£õx  PÁÛUP
÷Ási¯ A®\[PÒ ¯õøÁ ?

What are the factors to be considered while selecting the materials for engineering

applications ?

19. ÷\øÁ ÁÈzuh® GßÓõÀ GßÚ ?

What do you mean by service lines ?

20. ©zv¯ ö\¯»õUP A»S (CPU) – Áøµ¯ÖUPÄ®.

Define Control Processing Unit (CPU).

21. ªß_ØÖ Pmk¨£õmk¨ £»øP°ß ÁøPPøÍ¨ £mi¯¼kP.

List out the types of panel board.

22. öÁ¨£ CÖS ÁøP ¤ÍõìiU ©ØÖ® öÁ¨£ CÍS ÁøP ¤ÍõìiU GßÓõÀ
GßÚ ?

What is Thermo set plastic and Thermo plastic ?

23. {» Cøn¨¤À ¤ß£ØÓ¨£k® £õxPõ¨¦ ÁÈ•øÓPÒ H÷uÝ® ‰ßÔøÚz
u¸P.
Give any three safety measures followed in earthing.

10x3=30
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24. J¸ {ø» ªß÷Úõi Hß uõÚõP _Ç»z xÁ[SÁvÀø» ?

Why single phase motor is not self starting ?

25. ©õÔ AvºöÁs C¯UQ GßÓõÀ GßÚ ?

What is variable frequency drive ?

26. uß ø©¯ EÀø» GßÓõÀ GßÚ ?

What is concentric winding ?

27. {» Cøn¨¤ß ÁøPPøÍU TÖP.

State the types of earthing.

28. ÷|ºvø\ ªßÚõUQ GßÓõÀ GßÚ ?

What is DC Generator ?

£S-v & III / PART - III

SÔ¨¦ : GøÁ-÷¯-Ý® I¢x ÂÚõU-P-ÐUS ©mk® Âøh-¯-ÎU-P-Ä®. ÂÚõ Gs
35 &US Pm-hõ-̄ -©õP Âøh-̄ -ÎU-P-Ä®.

Note : Answer any five questions.  Question number 35 is compulsory.

29. ö©ßø©¯õÚ xÁUQ°ß ªß Áøµ£h® Áøµ¢x, Auß |ßø©PÒ H÷uÝ®
CµsiøÚz u¸P.

Draw the block diagram of Soft starter and give any two advantages.

30. PuÄ uPmiß £h® Áøµ¢x, Auß ‰»® EÀø» PhzvPÎß PuÄ Gs Põq®
•øÓø¯ ÂÍUSP.

Draw the diagram of a Standard wire gauge plate and explain how to find the gauge number

of a conductor.

31. £À÷ÁÖ JÎ°¯À ö£õ¸mPÒ ©ØÖ® AÁØÔß £¯ß£õkPøÍ AmhÁøn¨&
£kzxP.

Tabulate the various optical materials and their applications.

5x5=25
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32. ªßÚÀ uõ[Q°ß |ßø©PÒ ©ØÖ® wø©PøÍ GÊxP.

Write the advantages and disadvantages of lightning arrester.

33. AoÀTk _Ç¼°ß Aø©¨ø£ ÂÁ›UPÄ®.

Explain the construction of Squirrel cage rotor.

34. ªß C¯UQ°ß ÁøP¨£õkPøÍz u¸P.

Give the classifications of electrical drive.

35. ÷|ºvø\ Tmk ªß÷Úõi £ØÔ ÂÁ›UPÄ®.

Explain the DC compound motor.

£S-v & IV / PART - IV

SÔ¨¦ : AøÚz-x ÂÚõU-P-ÐU-S® Âøh-¯-ÎU-P-Ä®. ÷uøÁ¯õÚ Ch[PÎÀ £h®
Áøµ¯Ä®.

Note : Answer all the questions.  Draw diagrams wherever neccessary.

36. (A) £À÷ÁÖ ÁøP¯õÚ ªßP®£[PÎß £h® Áøµ¢x ÂÁ›UPÄ®.

AÀ-»-x

(B) ²ÛÁº\À ÷©õmhõº £h® Áøµ¢x ÂÁ›UPÄ®.

(a) Explain with a neat sketch about the types of electric poles.

OR

(b) Explain with neat sketch about Universal Motor.

37. (A) 2 x¸Á®, 6 £ÒÍ[PÒ ©ØÖ® 6 vø\©õØÔ £SvPÒ öPõsh ÷|ºvø\
C¯¢vµzvØS JØøÓ¨£õøu Cµmøh AkUS ©i¨¦ ÁøP EÀø»
Áøµ£h® ÁøµP. öuõkÂPÎß Aø©Âhzøu²® SÔUPÄ®.

AÀ-»-x

(B) ‰ßÖ •øÚ xÁUQ°ß Aø©¨¦ ©ØÖ® ö\¯À£õmøh £hzxhß
ÂÁ›UPÄ®.

(a) Draw the double layer simplex lap winding diagram for a DC machine having 2 poles,

6 slots and 6 commutator segments.  Also mention the position of brush.

OR

(b) Explain the construction and operation of three point starter with a neat sketch.

- o O o --

2x10=20


